## F A S C I C U L I M A T H E M A T I C I

Nr 45

## Ramazan Karatas

## ON THE SOLUTIONS OF THE RECURSIVE SEQUENCE

$$
x_{n+1}=\frac{a x_{n-(2 k+1)}}{-a+x_{n-k} x_{n-(2 k+1)}}
$$

Abstract. In this paper we study the solutions of the difference equation

$$
x_{n+1}=\frac{a x_{n-(2 k+1)}}{-a+x_{n-k} x_{n-(2 k+1)}} \text { for } n=0,1,2, \ldots
$$

where $a, x_{-(2 k+1)}, x_{-(2 k)}, x_{-(2 k-1)}, \ldots, x_{0}$ are the real numbers such that $x_{0} x_{-(k+1)} \neq a, x_{-1} x_{-(k+2)} \neq a, x_{-2} x_{-(k+3)} \neq a, \ldots$, $x_{-k} x_{-(2 k+1)} \neq a$ and $k$ is a natural number.
KEY WORDS: recursive sequence, solution, periodicity.
AMS Mathematics Subject Classification: 39A10.

## 1. Introduction

Difference equations have played an important role in analysis of mathematical models of biology, physics and engineering. Many researchers have investigated the behavior of the solution of rational difference equations. For example see Refs. [1-15].

Aloqeili [12] studied the solutions of the difference equation

$$
x_{n+1}=\frac{x_{n-1}}{a-x_{n-1} x_{n}}
$$

and gave the following formula

$$
x_{n}= \begin{cases}x_{0} \prod_{i=1}^{\frac{n}{2}} \frac{a^{2 i-1}(1-a)-\left(1-a^{2 i-1}\right) x_{-1} x_{0}}{a^{2 i}(1-a)-\left(1-a^{2 i}\right) x_{-1} x_{0}}, & n \text { even } \\ x_{-1} \prod_{i=0}^{\frac{n+1}{2}} \frac{a^{2 i-1}(1-a)-\left(1-a^{2 i}\right) x_{-1} x_{0}}{a^{2 i+1}(1-a)-\left(1-a^{2 i+1}\right) x_{-1} x_{0}}, & n \text { odd } .\end{cases}
$$

Andruch et al. [1] studied the asymtotic behavior of solutions of the difference equation

$$
x_{n+1}=\frac{a x_{n-1}}{b+c x_{n} x_{n-1}}
$$

and gave the following formula

$$
x_{n}= \begin{cases}\frac{\prod_{i=0}^{\frac{n+1}{2}-1}\left[p^{2 i}+x_{0} x_{-1} \sum_{k=0}^{2 i-1} p^{k}\right]}{x_{-1} \frac{n+1}{\frac{n+1}{2}-1}\left[p^{2 i+1}+x_{0} x_{-1} \sum_{k=0}^{2 i} p^{k}\right]}, & n \text { odd }, \\ \prod_{i=0}^{\frac{n}{2}-1}\left[p^{2 i+1}+x_{0} x_{-1} \sum_{k=0}^{2 i} p^{k}\right] \\ x_{0} \frac{i=0}{\prod_{2}^{-1}\left[\prod_{i=0}^{2 i+2}+x_{0} x_{-1} \sum_{k=0}^{2 i+1} p^{k}\right]}, & n \text { even. } \\ \prod_{i=1}[ \end{cases}
$$

Cinar [3] investigated the global asymptotic stability of all positive solutions of the rational difference equation

$$
x_{n+1}=\frac{a x_{n-1}}{1+b x_{n} x_{n-1}} .
$$

Also, Cinar [4] investigated the positive solutions of the rational difference equation

$$
x_{n+1}=\frac{a x_{n-1}}{-1+b x_{n} x_{n-1}} .
$$

Yalçınkaya [10] investigated the global behaviour of the rational difference equation

$$
x_{n+1}=\alpha+\frac{x_{n-m}}{x_{n}^{k}} .
$$

El-Owaidy et al. [9] studied the dynamics of the recurcive sequence

$$
x_{n+1}=\frac{\alpha x_{n-1}}{\beta+\gamma x_{n-2}^{p}} .
$$

Battaloğlu et al. [13] discussed the global asymptotic behavior and periodicity character of the following difference equation

$$
x_{n+1}=\frac{\alpha x_{n-k}}{\beta+\gamma x_{n-(k+1)}^{p}}
$$

by generalizing the results due to El-Owaidy et al.
Hamza et al. [2] studied the asymptotic stability of the nonnegative equilibrium point of the difference equation

$$
x_{n+1}=\frac{A x_{n-1}}{B+C \prod_{i=l}^{k} x_{n-2 i}}
$$

Gibbons et al. [6] investigated the global asymptotic behavior of the difference equation

$$
x_{n+1}=\frac{\alpha+\beta x_{n-1}}{\alpha+x_{n}} .
$$

Our aim in this paper is to investigate the solutions of the difference equation

$$
\begin{equation*}
x_{n+1}=\frac{a x_{n-(2 k+1)}}{-a+x_{n-k} x_{n-(2 k+1)}} \quad \text { for } n=0,1,2, \ldots \tag{1}
\end{equation*}
$$

where
(2) $a, x_{-(2 k+1)}, x_{-(2 k)}, x_{-(2 k-1)}, \ldots, x_{0}$ are the real numbers such that $x_{0} x_{-(k+1)} \neq a, x_{-1} x_{-(k+2)} \neq a, x_{-2} x_{-(k+3)} \neq a, \ldots, x_{-k} x_{-(2 k+1)} \neq a$ and $k$ is a natural number.

Similar to the references in this paper, we define Eq.(1) with (2) and investigate the solutions of this difference equation.

Let $I$ be an interval of real numbers and let $f: I^{k+1} \rightarrow I$ be a continuously differentiable function. Then for every set of initial conditions $x_{-k}, x_{-(k+1)}$, $\ldots, x_{0} \in I$, the difference equation

$$
\begin{equation*}
x_{n+1}=f\left(x_{n}, x_{n-1}, \ldots, x_{n-k}\right), \quad n=0,1, \ldots \tag{3}
\end{equation*}
$$

has a unique solution $\left\{x_{n}\right\}_{n=-k}^{\infty}$.
Definition 1 (Periodicity). A sequence $\left\{x_{n}\right\}_{n=-k}^{\infty}$ of Eq.(3) is said to be periodic with period $p$ if $x_{n+p}=x_{n}$ for all $n \geq-k$.

## 2. Main results

Theorem 1. Assume that (2) holds and let $\left\{x_{n}\right\}_{n=-(2 k+1)}^{\infty}$ be a solution of Eq.(1). Then for $n=0,1, \ldots$ all solutions of Eq.(1) are

$$
x_{2(k+1) n+i}=\left\{\begin{array}{l}
\frac{a^{n+1} x_{-(2 k+2-i)}}{\left(-a+x_{-(k+1-i)} x_{-(2 k+2-i)}\right)^{n+1}},  \tag{4}\\
i=1,2, \ldots, k+1, \\
\frac{1}{a^{n+1}} x_{-(2 k+2-i)} \quad \times\left(-a+x_{-(2 k+2-i)} x_{-(3 k+3-i)}\right)^{n+1} \\
\quad i=k+2, \ldots, 2 k+2,
\end{array}\right.
$$

Proof. For $n=0$, the result holds. Now suppose that $n>0$ and that our assumption holds for $(n-1)$. That is

$$
x_{2(k+1) n-(2 k+2-i)}=\left\{\begin{array}{l}
\frac{a^{n} x_{-(2 k+2-i)}}{\left(-a+x_{-(k+1-i)^{x-(2 k+2-i)^{n}}},\right.},  \tag{5}\\
i=1,2, \ldots, k+1 \\
\frac{1}{a^{n}} x_{-(2 k+2-i)} \quad \times\left(-a+x_{-(2 k+2-i)} x_{-(3 k+3-i)}\right)^{n} \\
\quad i=k+2, \ldots, 2 k+2
\end{array}\right.
$$

Now, it follows from Eq.(1) and Eq.(2) that

$$
\begin{aligned}
x_{2(k+1) n+1} & =\frac{a x_{2(k+1) n-(2 k+1)}}{-a+x_{2(k+1) n-k} x_{2(k+1) n-(2 k+1)}} \\
& =\frac{a \frac{a^{n} x_{-(2 k+1)}}{\left(-a+x_{-k} x_{-(2 k+1)}\right)^{n}}}{-a+\frac{1}{a^{n}} x_{-k}\left(-a+x_{-k} x_{-(2 k+1)}\right)^{n} \frac{a^{n} x_{-(2 k+1)}}{\left(-a+x_{-k} x_{-(2 k+1)}\right)^{n}}} \\
& =\frac{\frac{a^{n+1} x_{-(2 k+1)}}{\left(-a+x_{-k} x_{-(2 k+1))^{n}}\right.}}{-a+x_{-k} x_{-(2 k+1)}} .
\end{aligned}
$$

Hence, we have

$$
x_{2(k+1) n+1}=\frac{a^{n+1} x_{-(2 k+1)}}{\left(-a+x_{-k} x_{-(2 k+1)}\right)^{n+1}} .
$$

Similarly

$$
\begin{aligned}
x_{2(k+1) n+k+2} & =\frac{a x_{(2 k+1) n-k}}{-a+x_{(2 k+1) n+1} x_{(2 k+1) n-k}} \\
& =\frac{a \frac{1}{a^{n}} x_{-k}\left(-a+x_{-k} x_{-(2 k+1)}\right)^{n}}{-a+\frac{a^{n+1} x_{-(2 k+1)}}{\left(-a+x_{-k} x_{-(2 k+1)}\right)^{n+1}} \cdot \frac{1}{a^{n}} x_{-k}\left(-a+x_{-k} x_{-(2 k+1)}\right)^{n}} \\
& =\frac{\frac{a x_{-k}\left(-a+x_{-k} x_{-(2 k+1)}\right)^{n}}{a^{n}}}{-a+\frac{a x_{-(2 k+1)^{x-k}}^{\left(-a+x_{-k} x_{-(2 k+1)}\right)}}{\left(-a+x_{-k} x_{-(2 k+1)}\right)}}
\end{aligned}
$$

Hence, we have

$$
x_{2(k+1) n+k+2}=\frac{1}{a^{n+1}} x_{-k}\left(-a+x_{-k} x_{-(2 k+1)}\right)^{n+1} .
$$

Similarly, the other cases can be obtained. Thus, the proof is completed.

Theorem 2. Assume that $x_{0} x_{-(k+1)}=x_{-1} x_{-(k+2)}=\ldots=x_{-k} x_{-(2 k+1)}=$ 2a. Then every solution of Eq.(1) is periodic with period $(2 k+2)$.

Proof. From assumption and Theorem 1, we have

$$
\begin{aligned}
& x_{2(k+1) n+1}=x_{-(2 k+1)}, \\
& x_{2(k+1) n+2}=x_{-(2 k)},
\end{aligned}
$$

$$
\begin{aligned}
x_{2(k+1) n+k+1} & =x_{-(k+1)} \\
x_{2(k+1) n+k+2} & =x_{-k} \\
x_{2(k+1) n+k+3} & =x_{-(k-1)} \\
\vdots & \\
x_{2(k+1) n+2(k+1)} & =x_{0}
\end{aligned}
$$

It is obvious that every solution of Eq.(1) is periodic with period $(2 k+$ $2)$.

Corollary 1. Let $\left\{x_{n}\right\}_{n=-(2 k+1)}^{\infty}$ be a solution of Eq.(1). Assume that

$$
a, x_{-(2 k+1)}, x_{-(2 k)}, x_{-(2 k-1)}, \ldots, x_{0}>0
$$

and

$$
x_{0} x_{-(k+1)}>a, x_{-1} x_{-(k+2)}>a, \ldots, x_{-k} x_{-(2 k+1)}>a .
$$

Then all solutions of Eq.(1) are positive.
Proof. From the Eq.(2) all solutions of Eq.(1) are positive.

Corollary 2. Let $\left\{x_{n}\right\}_{n=-(2 k+1)}^{\infty}$ be a solution of Eq.(1). Assume that

$$
a>0, x_{-(2 k+1)}, x_{-(2 k)}, x_{-(2 k-1)}, \ldots, x_{0}<0
$$

and

$$
x_{0} x_{-(k+1)}>a, x_{-1} x_{-(k+2)}>a, \ldots, x_{-k} x_{-(2 k+1)}>a .
$$

Then all solutions of Eq.(1) are negative.
Proof. From the Eq.(2) all solutions of Eq.(1) are negative.

Corollary 3. Let $\left\{x_{n}\right\}_{n=-(2 k+1)}^{\infty}$ be a solution of Eq.(1). Assume that

$$
a=1, x_{-(2 k+1)}, x_{-(2 k)}, \ldots, x_{0}>0
$$

and

$$
x_{0} x_{-(k+1)}>2, x_{-1} x_{-(k+2)}>2, \ldots, x_{-k} x_{-(2 k+1)}>2
$$

Then

$$
\begin{gathered}
\lim _{n \rightarrow \infty} x_{2(k+1) n+i}=0 \quad(i=1,2, \ldots, k+1) \\
\lim _{n \rightarrow \infty} x_{2(k+1) n+i}=\infty \quad(i=k+2, k+3, \ldots, 2 k+2)
\end{gathered}
$$

Proof. Let

$$
x_{-(2 k+1)}, x_{-(2 k)}, x_{-(2 k-1)}, \ldots, x_{0}>0
$$

and

$$
x_{0} x_{-(k+1)}>2, x_{-1} x_{-(k+2)}>2, \ldots, x_{-k} x_{-(2 k+1)}>2 .
$$

Then

$$
x_{0} x_{-(k+1)}-1>1, x_{-1} x_{-(k+2)}-1>1, \ldots, x_{-k} x_{-(2 k+1)}-1>1 .
$$

From the Eq.(2), we have

$$
\begin{aligned}
\lim _{n \rightarrow \infty} x_{2(k+1) n+1} & =\lim _{n \rightarrow \infty} \frac{x_{-(2 k+1)}}{\left(-1+x_{-k} x_{-(2 k+1)}\right)^{n+1}}=0, \\
\lim _{n \rightarrow \infty} x_{2(k+1) n+2} & =\lim _{n \rightarrow \infty} \frac{x_{-(2 k)}}{\left(-1+x_{-(k-1)} x_{-(2 k)}\right)^{n+1}}=0, \\
\ldots & =\lim _{n \rightarrow \infty} \frac{x_{-(k+1)}}{\left(-1+x_{0} x_{-(k+1)}\right)^{n+1}}=0, \\
\lim _{n \rightarrow \infty} x_{2(k+1) n+k+1} & =\lim _{n \rightarrow \infty} x_{-k}\left(-1+x_{-k} x_{-(2 k+1)}\right)^{n+1}=\infty \\
\lim _{n \rightarrow \infty} x_{2(k+1) n+k+2} & =x_{n \rightarrow \infty} x_{-(k-1)}\left(-1+x_{-(k-1)} x_{-(2 k)}\right)^{n+1}=\infty \\
\lim _{n \rightarrow \infty} x_{2(k+1) n+k+3} & =\lim _{n \rightarrow \infty} \\
\cdots & \lim _{n \rightarrow \infty} x_{0}\left(-1+x_{0} x_{-(k+1)}\right)^{n+1}=\infty
\end{aligned}
$$

The proof is completed.
Corollary 4. Let $\left\{x_{n}\right\}_{n=-(2 k+1)}^{\infty}$ be a solution of Eq.(1). Assume that

$$
a=1, x_{-(2 k+1)}, x_{-(2 k)}, x_{-(2 k-1)}, \ldots, x_{0}<0
$$

and

$$
x_{0} x_{-(k+1)}>2, x_{-1} x_{-(k+2)}>2, \ldots, x_{-k} x_{-(2 k+1)}>2 .
$$

Then

$$
\begin{aligned}
\lim _{n \rightarrow \infty} x_{2(k+1) n+i} & =0 \quad(i=1,2, \ldots, k+1) \\
\lim _{n \rightarrow \infty} x_{2(k+1) n+i} & =-\infty \quad(i=k+2, k+3, \ldots, 2 k+2)
\end{aligned}
$$

Proof. The proof is similar to Corollary 3.

## 3. Numerical results

Example 1. Let $x_{n+1}=\frac{a x_{n-(2 k+1)}}{-a+x_{n-k} x_{n-(2 k+1)}}, n=0,1,, \ldots, 7$ and $k=1$, $a=1, x_{-3}=0.2, x_{-2}=1, x_{-1}=10, x_{0}=2$. Then we have the following results from Theorem 2:

| $n$ | $x_{n}$ | $n$ | $x_{n}$ |
| :--- | :--- | :--- | :--- |
| 1 | 0,2 | 5 | 0,2 |
| 2 | 1 | 6 | 1 |
| 3 | 10 | 7 | 10 |
| 4 | 2 | 8 | 2 |

Example 2. Let $x_{n+1}=\frac{a x_{n-(2 k+1)}}{-a+x_{n-k} x_{n-(2 k+1)}}, n=0,1, \ldots, 99$ and $k=2$, $a=3, x_{-5}=5, x_{-4}=4, x_{-3}=2, x_{-2}=3, x_{-1}=1, x_{0}=2$. Then we have the following results from Corollary 1:

| $n$ | $x_{n}$ | $n$ | $x_{n}$ |
| :--- | :--- | :--- | :--- |
| 1 | 1,25 | 50 | 78732,00057 |
| 2 | 12 | 67 | $2,980232242.10^{-7}$ |
| 6 | 0,666666666 | 88 | $3,221225448.10^{9}$ |
| 10 | 47,99999994 | 100 | $5,153960670.10^{10}$ |

Example 3. Let $x_{n+1}=\frac{a x_{n-(2 k+1)}}{-a+x_{n-k} x_{n-(2 k+1)}}, n=0,1, \ldots, 99$ and $k=2$, $a=2, x_{-5}=-1, x_{-4}=-2.5, x_{-3}=-1.5, x_{-2}=-3, x_{-1}=-1, x_{0}=-2$. Then we have the following results from Corollary 2:

| $n$ | $x_{n}$ | $n$ | $x_{n}$ |
| :--- | :--- | :--- | :--- |
| 1 | -2 | 50 | $-6,55360.10^{5}$ |
| 2 | -10 | 51 | -768 |
| 10 | $-0,75$ | 98 | $-4,294967234.10^{10}$ |
| 11 | $-0,0625$ | 100 | $-0,00002288818376$ |

Example 4. Let $x_{n+1}=\frac{a x_{n-(2 k+1)}}{-a+x_{n-k} x_{n-(2 k+1)}}, n=0,1, \ldots, 99$ and $k=1$, $a=1, x_{-3}=10, x_{-2}=11, x_{-1}=0.3, x_{0}=0.2$. Then we have the following results from Corollary 3 :

| $n$ | $x_{n}$ | $n$ | $x_{n}$ |
| :--- | :--- | :--- | :--- |
| 1 | 5 | 51 | 2457,6 |
| 13 | 0,625 | 71 | 78643,2 |
| 25 | 0,078125 | 87 | $1,258291210.10^{6}$ |
| 37 | 0,009765625 | 99 | $1,006632974.10^{7}$ |

Example 5. Let $x_{n+1}=\frac{a x_{n-(2 k+1)}}{-a+x_{n-k} x_{n-(2 k+1)}}, n=0,1, \ldots, 99$ and $k=1$, $a=1, x_{-3}=-15, x_{-2}=1-12, x_{-1}=-0.4, x_{0}=-0.3$. Then we have the following results from Corollary 4 :

| $n$ | $x_{n}$ | $n$ | $x_{n}$ |
| :--- | :--- | :--- | :--- |
| 1 | -3 | 51 | $-4,88281250.10^{8}$ |
| 13 | $-0,024$ | 71 | $-1,525878906.10^{12}$ |
| 25 | $-0,000192$ | 87 | $-9,536743160.10^{14}$ |
| 37 | $-0,000001536$ | 99 | $-1,192092895.10^{17}$ |

## References

[1] Andruch-Sobil A., Migda M., Further properties of the rational recursive sequence $x_{n+1}=\frac{a x_{n-1}}{b+c x_{n} x_{n-1}}$, Opuscula Mathematica, 26(3)(2006), 387-394.
[2] Hamza A.E., Allah R.K., Global behavior of a higher order difference equation, Journal of Mathematics and Statistics, 3(1)(2007), 17-20.
[3] Çinar C., On the positive solutions of the difference equation $x_{n+1}=$ $\frac{a x_{n-1}}{1+b x_{n} x_{n-1}}$, Applied Mathematics and Computation, 156(2004), 587-590.
[4] Çinar C., On the positive solutions of the difference equation $x_{n+1}=$ $\frac{x_{n-1}}{-1+x_{n} x_{n-1}}$, Applied Mathematics and Computation, 158(2004), 813-816.
[5] Çinar C., Stevic S., Yalçinkaya İ., A note on global asymptotic stability of a family of rational equations, Rostocker Mathematisches Kolloqium, 59 (2004), 41-49.
[6] Gibbons C.H., Kulenovic M.R.S., Ladas G., On the recursive sequence $x_{n+1}=\frac{\alpha+\beta x_{n-1}}{\alpha+x_{n}}$, Mathematical Sciences Research Hot-Line, 4(2)(2000), 1-11.
[7] Şimşek D., Çinar C., Yalçinkaya İ., On the recursive sequence $x_{n+1}=$ $\frac{x_{n-(5 k+9)}}{1+x_{n-4} x_{n-9} \ldots x_{n-(5 k+4)}}$, Taiwanese Journal of Mathematics, 12(5)(2008), 1087-1099.
[8] Şimşek D., Çinar C., Yalçinkaya İ., On the recursive sequence $x_{n+1}=\frac{x_{n-3}}{1+x_{n-1}}$, International Journal of Contemporary Mathematical Sciences, 1(10)(2006), 475-480.
[9] El-Owaidy H.M., Ahmet A.M., Youssef A.M., On the dynamics of the recursive sequence $x_{n+1}=\frac{\alpha x_{n-1}}{\beta+\gamma x_{n-2}^{p}}$, Applied Mathematics Letters, 18(9)(2005), 1013-1018.
[10] Yalçinkaya İ., On the difference equation $x_{n+1}=\alpha+\frac{x_{n-m}}{x_{n}^{k}}$, Discrete Dynamics in Nature and Society, Article ID 805460, 2008, $8^{n}$ pages, doi: 10.1155/2008/805460.
[11] Yalçinkaya İ., On the global attractivity of positive solutions of a rational equation, Selçuk Journal of Applied Mathematics, 9(2)(2008), 3-8.
[12] Aloqeili M., Dynamics of a rational difference equation, Applied Mathematics and Computation, 176(2)(2006).
[13] Battaloğlu N., Çinar C., Yalçinkaya İ., The dynamics of the difference equation $x_{n+1}=\frac{\alpha x_{n-k}}{\beta+\gamma x_{n-(k+1)}^{n}}$, Ars Combinatoria, (2010), (in press).
[14] Abu-Saris R., Çinar C., Yalçinkaya İ., On the asymptotic stability of $x_{n+1}=\frac{a+x_{n} x_{n-k}}{x_{n}+x_{n-k}}$, Computers \& Mathematics with Applications, 56(5)(2008), 1172-1175.
[15] KocicV.L., Ladas G., Global behavior of nonlinear difference equations of high order with applications, Kluwer Academic Publishers, Dordrecht, 1993.

Ramazan Karatas<br>Selcuk University<br>Education Faculty, Mathematics Department 42090, Meram Yeni Yol, Konya, Turkiye<br>e-mail: rkaratas@selcuk.edu.tr

Received on 12.11.2009 and, in revised form, on 11.02.2010.

